

A remark on symmetry of stochastic dynamical systems and their conserved quantities

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1995 J. Phys. A: Math. Gen. 28 6363

(<http://iopscience.iop.org/0305-4470/28/22/012>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.68

The article was downloaded on 02/06/2010 at 01:48

Please note that [terms and conditions apply](#).

A remark on symmetry of stochastic dynamical systems and their conserved quantities

Sergio Albeverio† and Shao-Ming Fei‡

Institute of Mathematics, Ruhr-University Bochum, D-44780 Bochum, Germany

Received 24 April 1995

Abstract. The symmetry properties of stochastic dynamical systems described by a stochastic differential equation of Stratonovich type and related conserved quantities are discussed, extending previous results by Misawa. New conserved quantities are given by applying symmetry operators to known conserved quantities. Some detailed examples are presented.

Symmetries and conserved quantities have been discussed in the framework of Bismut's stochastic mechanics [1] and Nelson's stochastic mechanics, see, e.g., [2–4]. More recently Cruzeiro *et al* [5] and Nagasawa [6] have discussed stochastic variational principles and associated conserved quantities in the theory of Schrödinger processes (Euclidean quantum theory, in the sense of Zambrini, see also [7]). In [8] (a stochastic version of [9]) a theory of conserved quantities related to a stochastic differential equation of Stratonovich type has been presented, without referring to either Lagrangians or Hamiltonians. In this paper we investigate the symmetry of the stochastic dynamical differential equation and the space of conserved quantities. We derive new results on conserved quantities which include the ones in [8]. It is shown that the conserved quantities are related to the symmetry algebra of the space of conserved quantities.

We consider the stochastic dynamical systems of Stratonovich type [10] described by the following n -dimensional vector-valued stochastic differential equations:

$$dx_t = b(x_t, t)dt + \sum_{r=1}^m g_r(x_t, t) \circ dw_t^r \quad (1)$$

where x_t is a \mathbb{R}^n -valued stochastic process, $w_t = (w_t^r)_{r=1}^m$ is a \mathbb{R}^m -valued standard Wiener process, $b = (b^i)_{i=1}^n$ and $g_r = (g_r^i)_{i=1}^n$ are \mathbb{R}^n -valued smooth functions, $r = 1, \dots, m$, satisfying restrictions at infinity allowing the existence and uniqueness of solutions of (1), with given (deterministic or stochastic) initial condition $x_t|_{t=0} = x_0$. Let $\mathcal{F} \equiv C^2(\mathbb{R}^n \times \mathbb{R})$. A function $I \in \mathcal{F}$ is called a conserved quantity of a stochastic dynamical system (1) if it satisfies

$$\Delta_t I(x_t, t) = 0 \quad \tilde{\Delta}_r I(x_t, t) = 0 \quad r = 1, \dots, m \quad (2)$$

where $\Delta_t = \partial_t + \sum_{i=1}^n b^i \partial_i$ and $\tilde{\Delta}_r = \sum_{i=1}^n g_r^i \partial_i$, when x_t satisfies (1). By Ito–Stratonovich's formula equation (2) implies that $dI(x_t, t) = 0$ and $I(x_t, t) = \text{constant}$ holds along the

† SFB 237 (Essen-Bochum-Düsseldorf); BiBoS (Bielefeld-Bochum); CERFIM Locarno (Switzerland).

‡ Alexander von Humboldt-Stiftung Fellow. On leave from: Institute of Physics, Chinese Academy of Sciences, Beijing, People's Republic of China.

diffusion process x_t , the constant being independent of t , but possibly depending on the initial condition x_0 . If the initial condition x_0 in (1) is taken to be deterministic, then I is a deterministic quantity independent of time.

In investigating the symmetry of the stochastic dynamical process (1), we would like to distinguish between the symmetry of the stochastic differential equation (1) and the symmetry of the space of conserved quantities. We first consider the former. Let $\epsilon > 0$ and $\zeta = (\zeta^i)_{i=1}^n \in \mathcal{F}$.

Theorem 1. For ϵ sufficiently small the stochastic differential equation (1) is invariant under the following transformations:

$$x_t^i \rightarrow x_t^i + \epsilon \zeta^i(x_t, t) \quad i = 1, \dots, n \tag{3}$$

if the $\zeta^i(x_t, t)$ satisfy

$$\begin{aligned} \Delta_t \zeta^i(x_t, t) - \sum_{j=1}^n \zeta^j(x_t, t) \partial_j b^i(x_t, t) &= 0 \\ \tilde{\Delta}_r \zeta^i(x_t, t) - \sum_{j=1}^n \zeta^j(x_t, t) \partial_j g_r^i(x_t, t) &= 0 \quad r = 1, \dots, m. \end{aligned} \tag{4}$$

Proof. Under (3) equation (1) becomes (writing ζ as a shorthand for $\zeta(x_t, t)$)

$$\begin{aligned} d(x_t^i + \epsilon \zeta^i) &= dx_t^i + \epsilon d\zeta^i = b^i(x_t + \epsilon \zeta, t) dt + \sum_{r=1}^m g_r^i(x_t + \epsilon \zeta, t) \circ dw_t^r \\ &= b^i(x_t, t) dt + \sum_{j=1}^n \epsilon \zeta^j \partial_j b^i(x_t, t) dt + \sum_{r=1}^m g_r^i(x_t, t) \circ dw_t^r \\ &\quad + \sum_{r=1}^m \sum_{j=1}^n \epsilon \zeta^j \partial_j g_r^i(x_t, t) \circ dw_t^r + o(\epsilon) \end{aligned}$$

with $\epsilon^{-1} o(\epsilon) \rightarrow 0$ as $\epsilon \downarrow 0$. That is

$$d\zeta^i = \sum_{j=1}^n \zeta^j \partial_j b^i(x_t, t) dt + \sum_{r=1}^m \sum_{j=1}^n \zeta^j \partial_j g_r^i(x_t, t) \circ dw_t^r.$$

On the other hand, by the formula for Stratonovich differentials we have

$$d\zeta^i = \Delta_t \zeta^i dt + \sum_{r=1}^m \tilde{\Delta}_r \zeta^i \circ dw_t^r.$$

Combining the above two equations we obtain equations (4). □

Let $a^i, i = 1, \dots, n$ and a_0 all belong to \mathcal{F} . Then an operator $S = \sum_{i=1}^n a^i \partial_i + a_0 \partial_t$ (acting on $C^1(\mathbb{R}^n \times \mathbb{R})$ -functions) is by definition a symmetry operator of the infinitesimal invariance transformation (3) of the stochastic equation (1) if S satisfies, on $C^1(\mathbb{R}^n \times \mathbb{R})$

$$[S, x_t^i] = \zeta^i = a^i \tag{5}$$

where $[,]$ is the Lie bracket and ζ^i satisfies equation (4).

For the symmetry related to the space of conserved quantities of the stochastic dynamical process (1), we consider a linear operator L satisfying the following commutation relations on $C^1(\mathbb{R}^n \times \mathbb{R})$:

$$[\Delta_t, L] = T \Delta_t + \sum_{\alpha=1}^m T^\alpha \tilde{\Delta}_\alpha \quad [\tilde{\Delta}_r, L] = R_r \Delta_t + \sum_{\alpha=1}^m R_r^\alpha \tilde{\Delta}_\alpha \quad r = 1, \dots, m \quad (6)$$

where $T, T^\alpha, R_r, R_r^\alpha \in \mathcal{F}$. Let $\mathcal{I} \equiv \{I(x_t, t) | dI(x_t, t) = 0 \text{ when } x_t \text{ satisfies (1)}\}$ be the space of the conserved functionals of the process. We have:

Theorem 2. For $I \in \mathcal{I}$ and L satisfying relation (6), LI is also a conserved quantity, i.e. $LI \in \mathcal{I}$.

Proof. As $I \in \mathcal{I}$, I satisfies equation (2). From (6) we further have $\Delta_t(LI) = 0, \tilde{\Delta}_r(LI) = 0, r = 1, \dots, m$. Hence $LI \in \mathcal{I}$. □

Let \mathcal{L} denote the set of all operators L satisfying (6).

Theorem 3. The set \mathcal{L} is a complex Lie algebra under Lie commutators (acting on $C^1(\mathbb{R}^n \times \mathbb{R})$); that is, if $L_1, L_2, L_3 \in \mathcal{L}$, then:

- (i) $a_1 L_1 + a_2 L_2 \in \mathcal{L}, \forall a_1, a_2 \in \mathbb{C} \setminus \{0\}$,
- (ii) $[L_1, L_2] \in \mathcal{L}$,
- (iii) $[L_1, [L_2, L_3]] + [L_2, [L_3, L_1]] + [L_3, [L_1, L_2]] = 0$.

Proof. Let $L_1, L_2 \in \mathcal{L}$, s.t., on $C^1(\mathbb{R}^n \times \mathbb{R})$:

$$[\Delta_t, L_i] = T_i \Delta_t + \sum_{\alpha=1}^m T_i^\alpha \tilde{\Delta}_\alpha \quad [\tilde{\Delta}_r, L_i] = R_r^i \Delta_t + \sum_{\alpha=1}^m R_r^{i\alpha} \tilde{\Delta}_\alpha \quad i = 1, 2.$$

Property (i) is obviously as

$$[\Delta_t, a_1 L_1 + a_2 L_2] = (a_1 T_1 + a_2 T_2) \Delta_t + \sum_{\alpha=1}^m (a_1 T_1^\alpha a_1 + a_2 T_2^\alpha) \tilde{\Delta}_\alpha$$

and

$$[\tilde{\Delta}_r, a_1 L_1 + a_2 L_2] = (a_1 R_r^1 + a_2 R_r^2) \Delta_t + \sum_{\alpha=1}^m (a_1 R_r^{1\alpha} + a_2 R_r^{2\alpha}) \tilde{\Delta}_\alpha.$$

By a direct calculation we have, on $C^1(\mathbb{R}^n \times \mathbb{R})$:

$$\begin{aligned} [\Delta_t, [L_1, L_2]] &= \left(L^1 T_2 - L^2 T_1 + \sum_{\alpha=1}^m (T_1^\alpha R_\alpha^2 - T_2^\alpha R_\alpha^1) \right) \Delta_t \\ &+ \sum_{\alpha=1}^m \left(L_1 T_2^\alpha - L_2 T_1^\alpha + T_1 T_2^\alpha - T_2 T_1^\alpha + \sum_{\beta=1}^m (T_1^\beta R_\beta^{2\alpha} - T_2^\beta R_\beta^{1\alpha}) \right) \tilde{\Delta}_\alpha \end{aligned}$$

and

$$\begin{aligned} [\tilde{\Delta}_r, [L_1, L_2]] &= \left(L^1 R_r^2 - L^2 R_r^1 + \sum_{\alpha=1}^m (R_r^{1\alpha} R_\alpha^2 - R_r^{2\alpha} R_\alpha^1) \right) \Delta_t \\ &+ \sum_{\alpha=1}^m \left(L_1 R_r^{2\alpha} - L_2 R_r^{1\alpha} + R_r^1 T_2^\alpha - R_r^2 T_1^\alpha + \sum_{\beta=1}^m (R_r^{1\beta} R_\beta^{2\alpha} - R_r^{2\beta} R_\beta^{1\alpha}) \right) \tilde{\Delta}_\alpha \end{aligned}$$

where the linear property of the operators L_1 and L_2 has been used. Therefore we get $[L_1, L_2] \in \mathcal{L}$. The Jacobi identity (iii) is satisfied as $L \in \mathcal{L}$ are linear differential operators. \square

From Theorem 2 we have that the space of the conserved functionals admits the symmetry algebra \mathcal{L} in the sense that it is invariant under any $L \in \mathcal{L}$. The space \mathcal{I} is a representation of the closed algebra \mathcal{L} . We call the elements of \mathcal{L} 'symmetry operators'.

Now we consider a subalgebra \mathcal{L}_0 of \mathcal{L} with $T^r = R_r = 0$, $R_r^\alpha = 0$, for $\alpha \neq r$ and $R_r^r = T$ in relation (6). That is, for $L_0 \in \mathcal{L}_0$, on $C^1(\mathbb{R}^n \times \mathbb{R})$

$$[\Delta_t, L_0] = T \Delta_t \quad [\tilde{\Delta}_r, L_0] = T \tilde{\Delta}_r \quad r = 1, \dots, m. \quad (7)$$

Let L_0 be of the form $L_0 = \sum_{i=1}^n A^i \partial_i + B \partial_t$ with $A^i, i = 1, \dots, n$ and B belong to \mathcal{F} . A direct calculation shows that relations (7) are equivalent to the following equations:

$$\Delta_t B = T \quad (8)$$

$$\Delta_t A^i - \sum_{j=1}^n A^j \partial_j b^i - B \partial_t b^i - T b^i = 0 \quad (9)$$

and

$$\tilde{\Delta}_r B = 0 \quad r = 1, \dots, m \quad (10)$$

$$\tilde{\Delta}_r A^i - \sum_{j=1}^n A^j \partial_j g_r^i - B \partial_t g_r^i - T g_r^i = 0 \quad (11)$$

as operators on $C^1(\mathbb{R}^n \times \mathbb{R})$.

We remark that in general a symmetry operator of the space \mathcal{I} is not a symmetry operator of the infinitesimal transformations of the stochastic differential equation. But when $B = 0$, then the equation set (8)–(11) reduces to the equation set (4) by replacing A^i with $a^i (= \zeta^i)$ and $\sum_{i=1}^n A^i \partial_i$ is both a symmetry operator of the infinitesimal invariance transformation of the stochastic differential equation and for the space \mathcal{I} of conserved quantities.

Theorem 4. Let $L_0 = \sum_{i=1}^n A^i \partial_i + B \partial_t \in \mathcal{L}_0$. Then

$$I(x_t, t) = \sum_{i=1}^n \partial_i A^i(x_t, t) + \partial_t B(x_t, t) - T(x_t, t) + L_0 \phi(x_t, t) \quad (12)$$

is a conserved quantity of stochastic dynamical system (1) (i.e. for x_t satisfies (1)), when $\phi \in \mathcal{F}$ satisfies

$$\tilde{\Delta}_r \phi(x_t, t) + \sum_{i=1}^n \partial_i g_r^i(x_t, t) = 0 \quad r = 1, \dots, m \quad (13)$$

$$\Delta_t \phi(x_t, t) + \sum_{i=1}^n \partial_i b^i(x_t, t) = 0. \quad (14)$$

Proof. We have (dropping everywhere, for simplicity, the arguments x_t, t)

$$\begin{aligned} \Delta_t I &= \Delta_t \left(\sum_{i=1}^n \partial_i A^i \right) + \Delta_t(L_0\phi) + \Delta_t(\partial_t B - T) \\ &= \sum_{i=1}^n \partial_i (\Delta_t A^i) - \sum_{i,j=1}^n \partial_j b^j \partial_i A^i + \Delta_t(L_0\phi) + \Delta_t(\partial_t B - T) \\ &= \sum_{i,j=1}^n A^j \partial_j \partial_i b^i + B \sum_{i=1}^n \partial_t \partial_i b^i + \sum_{i=1}^n \partial_i B \partial_t b^i + T \sum_{i=1}^n \partial_i b^i \\ &\quad + \sum_{i=1}^n b^i \partial_t T + T \Delta_t \phi + L_0 \Delta_t \phi + \Delta_t(\partial_t B - T) \\ &= (L_0 + T) \left(\sum_{i=1}^n \partial_i b^i + \Delta_t \phi \right) = 0 \end{aligned}$$

$$\begin{aligned} \tilde{\Delta}_r I &= \tilde{\Delta}_r \left(\sum_{i=1}^n \partial_i A^i \right) + \tilde{\Delta}_r(L_0\phi) + \tilde{\Delta}_r(\partial_t B - T) \\ &= \sum_{i=1}^n \partial_i (\tilde{\Delta}_r A^i) - \sum_{i,j=1}^n \partial_j g_r^j \partial_i A^i + \tilde{\Delta}_r(L_0\phi) + \tilde{\Delta}_r(\partial_t B - T) \\ &= \sum_{i,j=1}^n A^j \partial_j \partial_i g_r^i + B \sum_{i=1}^n \partial_t \partial_i g_r^i + \sum_{i=1}^n \partial_i B \partial_t g_r^i + T \sum_{i=1}^n \partial_i g_r^i \\ &\quad + \sum_{i=1}^n g_r^i \partial_t T + T \tilde{\Delta}_r \phi + L_0 \tilde{\Delta}_r \phi + \tilde{\Delta}_r(\partial_t B - T) \\ &= (L_0 + T) \left(\sum_{i=1}^n \partial_i g_r^i + \tilde{\Delta}_r \phi \right) = 0 \end{aligned}$$

where equations (8)–(11), (13) and (14) have been used. Therefore by definition $I(x_t, t)$ is a conserved quantity. □

Theorem 4 is a generalization of that presented in [8], not only because of the extra term $\partial_t B - T$, but also because of the presence of B in the symmetry operator L_0 . For the special case that $b^i = g_r^i$, or more generally $g_r^i = C(x_t, t)b^i$, $r = 1, \dots, m$, $\forall C(x_t, t) \in \mathcal{F}$ (these are the cases of the examples given in [8]), we see from (8) and (10) that $\partial_t B - T = 0$, hence these terms disappear in the expression of $I(x_t, t)$. Even in these cases equation (12) is still a generalization of that in [8] as long as $B \neq 0$ in L_0 .

For a more detailed discussion we consider several examples.

Example 1. Following [8] we consider the three-dimensional stochastic linear dynamical system

$$d \begin{pmatrix} x_t^1 \\ x_t^2 \\ x_t^3 \end{pmatrix} = \begin{pmatrix} x_t^3 - x_t^2 \\ x_t^1 - x_t^3 \\ x_t^2 - x_t^1 \end{pmatrix} dt + \begin{pmatrix} x_t^3 - x_t^2 \\ x_t^1 - x_t^3 \\ x_t^2 - x_t^1 \end{pmatrix} \circ dw_t. \tag{15}$$

In this case the existence and uniqueness of the solution is well known (see, e.g., [10]). The system (15) has the properties $g^i = b^i$, $\sum_{i=1}^3 \partial_i g^i = 0$ and $\sum_{i=1}^3 \partial_i b^i = 0$. From equations (8)–(11) several solutions of L_0 satisfying (7) can be obtained with $T = 0$. For instance

$$L_0 = (x_1^1 + x_1^2 + x_1^3) \sum_{i=1}^3 \partial_i$$

$$L_1 = [(x_1^1)^2 + (x_1^2)^2 + (x_1^3)^2] \sum_{i=1}^3 \partial_i$$

$$L_2 = (x_1^1 x_1^2 + x_1^2 x_1^3 + x_1^3 x_1^1) \sum_{i=1}^3 \partial_i$$

$$L_3 = [(x_1^1)^2(x_1^2 + x_1^3) + (x_1^2)^2(x_1^1 + x_1^3) + (x_1^3)^2(x_1^2 + x_1^1) + 3x_1^1 x_1^2 x_1^3] \sum_{i=1}^3 \partial_i.$$

By using theorem 4 we can deduce that the following quantities are conserved:

$$I_0 = \text{constant (independent of the } x_i^j)$$

$$I_1 = I_2 = x_1^1 + x_1^2 + x_1^3$$

$$I_3 = 2((x_1^1)^2 + (x_1^2)^2 + (x_1^3)^2) + 7(x_1^1 x_1^2 + x_1^2 x_1^3 + x_1^3 x_1^1)$$

where I_1 is the conserved quantity obtained in [8]. I_3 is a new conserved quantity for the system (15).

As Δ_r and $\tilde{\Delta}_r$ are linear operators, products of conserved quantities are still conserved quantities. Let us set

$$I'_3 \equiv (I_3 - 2I_2^2)/3 = x_1^1 x_1^2 + x_1^2 x_1^3 + x_1^3 x_1^1.$$

I_1 and I'_3 are then two simple non-trivial conserved quantities of the system (15). Symmetry operators map conserved quantities into conserved quantities. Under the actions of the symmetry operators L_i , $i = 1, 2, \dots$, we have, e.g.,

$$L_0 I_1 = 3I_1 \quad L_1 I_1 = 3(I_1^2 - 2I'_3)$$

$$L_2 I_1 = 3I'_3 \quad L_0 I'_3 = 2I_1^2.$$

In fact $L_0 = I_1 \sum_{i=1}^3 \partial_i$ and $L_2 = I'_3 \sum_{i=1}^3 \partial_i$. In the present case $r = 1$ and

$$\left[\sum_{i=1}^3 \partial_i, \Delta_r \right] = 0 \quad \left[\sum_{i=1}^3 \partial_i, \tilde{\Delta}_1 \right] = 0$$

on $C^1(\mathbb{R}^3 \times \mathbb{R})$ functions. Let f be an arbitrary polynomial function on \mathbb{R}^2 . Since $L \equiv f(I_1, I'_3) \sum_{i=1}^3 \partial_i$ commutes with Δ_r and $\tilde{\Delta}_1$, we have that L is a symmetry operator in \mathcal{L}_0 (defined in (7)). Hence the system (15) possesses an infinite number of symmetry operators that are linearly independent. They constitute an algebra \mathcal{L}_0 with commutation relations which can obviously be explicitly computed, e.g.,

$$[L_0, L_1] = 4L_3 - L_1 \quad [L_0, L_2] = 2L_1 + L_3$$

on $C^1(\mathbb{R}^n \times \mathbb{R})$. As $B = 0$ in this example, the algebra \mathcal{L}_0 coincides with the algebra generating the infinitesimal invariance transformations for the stochastic differential equation.

The following examples are designed to show the useful symmetry analysis on conserved functionals in stochastic dynamical systems. We start with a (unique) solution for small times and show that there are conserved quantities (functionals of the solution process) associated with it.

Example 2. Let us consider the following stochastic dynamical system:

$$dx_t^i = b^i(x_t, t)dt + g^i(x_t, t) \circ dw_t \tag{16}$$

with

$$g^i = x_t^i((x_t^1)^2 + (x_t^2)^2 + (x_t^3)^2)^m \left(e^{2mt} \delta_{n,0} - \frac{1}{nt} \delta_{n,-2m} \right)$$

$$b^i = \frac{x_t^i}{(x_t^1 + x_t^2 + x_t^3)^n} (e^{2mt} \delta_{n,0} - b_0 \delta_{n,-2m}) \quad i = 1, 2, 3$$

where $n, m \in \mathbb{Z}$, $m \neq 0$, and $b_0 \in \mathbb{R}$. We have the symmetry operators in \mathcal{L}_0 satisfying (on $C^1(\mathbb{R}^n \times \mathbb{R})$)

$$[\Delta_t, L_i] = T_i \Delta_t \quad [\tilde{\Delta}_1, L_i] = T_i \tilde{\Delta}_1 \quad i = 1, 2, 3,$$

with

$$\begin{aligned} L_1 &= x_t^3 \partial_2 - x_t^2 \partial_3 + \frac{x_t^2 - x_t^3}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - nt \delta_{n,-2m}) \partial_t \\ L_2 &= x_t^1 \partial_3 - x_t^3 \partial_1 + \frac{x_t^3 - x_t^1}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - nt \delta_{n,-2m}) \partial_t \\ L_3 &= x_t^2 \partial_2 - x_t^1 \partial_2 + \frac{x_t^1 - x_t^2}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - nt \delta_{n,-2m}) \partial_t \end{aligned} \tag{17}$$

and

$$T_1 = \frac{2m(x_t^3 - x_t^2)}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - \delta_{n,-2m})$$

$$T_2 = \frac{2m(x_t^1 - x_t^3)}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - \delta_{n,-2m})$$

$$T_3 = \frac{2m(x_t^2 - x_t^1)}{x_t^1 + x_t^2 + x_t^3} (e^{-2mt} \delta_{n,0} - \delta_{n,-2m})$$

where $\Delta_t = \sum_{i=1}^3 b^i \partial_i + \partial_t$ and $\tilde{\Delta}_1 = \sum_{i=1}^3 g^i \partial_i$.

A function ϕ satisfying (13) is given by

$$\phi(x_t, t) = -\frac{3 + 2m}{3} \log(x_t^1 x_t^2 x_t^3) + e^{2mt} \delta_{n,0}$$

for $x_t^i \neq 0$, $i = 1, 2, 3$. From theorem 4 we have the conserved quantities

$$I_1 = \frac{(2m + 3)((x_t^2)^2 - (x_t^3)^2)}{3x_t^2 x_t^3} + \frac{2m(x_t^2 - x_t^3)}{x_t^1 + x_t^2 + x_t^3} \delta_{n,0}$$

$$I_2 = \frac{(2m + 3)((x_t^3)^2 - (x_t^1)^2)}{3x_t^1 x_t^3} + \frac{2m(x_t^3 - x_t^1)}{x_t^1 + x_t^2 + x_t^3} \delta_{n,0}$$

$$I_3 = \frac{(2m + 3)((x_t^1)^2 - (x_t^2)^2)}{3x_t^1 x_t^2} + \frac{2m(x_t^1 - x_t^2)}{x_t^1 + x_t^2 + x_t^3} \delta_{n,0}.$$

In this example the terms $\partial_t B_i - T_i$, $i = 1, 2, 3$ appearing in (12) are zero. But as $B_i \neq 0$, the term $L_i \phi$ still contributes extra terms to I_i .

The space of conserved quantities of the system (16) is $SU(2)$ symmetric. It is straightforward to check that the symmetry operators (17) satisfy the $SU(2)$ algebraic relations

$$[L_i, L_j] = \epsilon_{ijk} L_k \quad i, j, k = 1, 2, 3.$$

Example 3. The following example is a nonlinear model with $\partial_t B - T \neq 0$ in (12):

$$d \begin{pmatrix} x_t^1 \\ x_t^2 \\ x_t^3 \end{pmatrix} = \frac{1}{t} \begin{pmatrix} x_t^1 \\ x_t^2 \\ x_t^3 \end{pmatrix} dt + \frac{1}{t} \begin{pmatrix} x_t^1(x_t^3 - x_t^2) \\ x_t^2(x_t^1 - x_t^3) \\ x_t^3(x_t^2 - x_t^1) \end{pmatrix} \circ dw_t \quad t > 0. \quad (18)$$

For this system we have a symmetry operator $L_0 \in \mathcal{L}_0$ given by

$$L_0 = B \partial_t = (x_t^1 + x_t^2 + x_t^3) \partial_t$$

satisfying

$$[\Delta_t, L_0] = T \Delta_t = \frac{1}{t} (x_t^1 + x_t^2 + x_t^3) \Delta_t$$

$$[\tilde{\Delta}_1, L_0] = T \tilde{\Delta}_1 = \frac{1}{t} (x_t^1 + x_t^2 + x_t^3) \tilde{\Delta}_1$$

where

$$\Delta_t = \partial_t + \sum_{i=1}^3 \frac{x_t^i}{t} \partial_i \quad \tilde{\Delta}_1 = \frac{x_t^1(x_t^3 - x_t^2)}{t} \partial_1 + \frac{x_t^2(x_t^1 - x_t^3)}{t} \partial_2 + \frac{x_t^3(x_t^2 - x_t^1)}{t} \partial_3. \quad (19)$$

ϕ satisfying (13) and (14) is given by $\phi = -3 \log t$, $t \neq 0$. From theorem 4 we have, for x_t satisfying (18),

$$I(x_t, t) = \sum_{i=1}^n \partial_i A^i + \partial_t B - T + L_0 \phi = -\frac{4}{t} (x_t^1 + x_t^2 + x_t^3) \quad t > 0.$$

Let us summarize the above. By investigating the symmetry of the space of conserved quantities for stochastic dynamical systems, we have established new relations for conserved quantities. We would like to indicate that although the conserved functionals are given by the elements of a subalgebra \mathcal{L}_0 of \mathcal{L} , the space of conserved functionals itself admits the symmetry Lie algebra \mathcal{L} . Let us consider (18), with Δ_t and $\tilde{\Delta}_1$ given by (19), as an example. We consider the operator $L = a(x_t, t) \Delta_t + b(x_t, t) \tilde{\Delta}_1$, $a(x_t, t), b(x_t, t) \in \mathcal{F}$. Noting that in present case $[\Delta_t, \tilde{\Delta}_1] = 0$, we have

$$[\Delta_t, L] = \Delta_t a(x_t, t) \Delta_t + \Delta_t b(x_t, t) \tilde{\Delta}_1 \quad [\tilde{\Delta}_1, L] = \tilde{\Delta}_1 a(x_t, t) \Delta_t + \tilde{\Delta}_1 b(x_t, t) \tilde{\Delta}_1.$$

Therefore L is a symmetry operator in \mathcal{L} which maps $I \in \mathcal{I}$ to zero. However only when $\Delta_t b(x_t, t) = \tilde{\Delta}_1 a(x_t, t) = 0$ and $\tilde{\Delta}_1 b(x_t, t) = \Delta_t a(x_t, t)$ is L a symmetry operator in \mathcal{L}_0 , satisfying the defining relations (7).

Acknowledgment

S-MF thanks the Alexander von Humboldt Foundation for financial support.

References

- [1] Bismut J M 1981 *Mécanique Aléatoire (Lecture Notes in Mathematics 866)*
- [2] Nelson E 1985 *Quantum Fluctuations* (Princeton, NJ: Princeton University Press)
- [3] Guerra F and Morato L M 1983 *Phys. Rev. D* **27** 1774–86
- [4] Morato L and Loffredo M I 1989 *J. Math. Phys.* **30** 354
- [5] Cruzeiro A B and Zambrini J C 1991 *Stochastic Analysis and Applications* (Basel: Birkhäuser)
- [6] Nagasawa M 1993 *Schrödinger Equations and Diffusion Theory* (Basel: Birkhäuser)
- [7] Alberverio S and Zambrini J C 1989 *Ann. Inst. H Poincaré* **49** 259–308
- [8] Misawa T 1994 *J. Phys. A: Math. Gen.* **27** L777–82
- [9] Hojman S 1992 *J. Phys. A: Math. Gen.* **25** L291–5
- [10] Ikeda N and Watanabe S 1985 *Stochastic Differential Equations and Diffusion Processes* 2nd edn (Amsterdam/Tokyo: North-Holland/Kodansha)
- Arnold L 1973 *Stochastische Differentialgleichungen* (Munich: Oldenbourg)
- Gihman I I and Skorohod A V 1979 *The Theory of Stochastic Processes III* (Berlin: Springer)
- Gard Th 1988 *Introduction to Stochastic Differential Equations* (New York: Dekker)
- Øksendahl B 1985 *Stochastic Differential Equations* (Berlin: Springer)